: 9+ 14:66-15:32
A = AP Se|A ol
1. of|pH 2 Holsh = 2 (2 14:66-72)
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(8 14:72)

2. Y2tz e| (2 15:1-15)

(1) GAl 200 7LHRISOA At ZHS 4|
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FEH2 =2 Z007| 2lofl L2t=0fAH B3 7F Yo
MIZACH Ofl~d 2 L2t “U7t RCHRIO0] FO|LF

ete A2 EotAlLD =SS,

(8t 15:1-5
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Q) Letee 7H A=AS2| EHdS A| Slsl of+-Hol

w

PZ|S ANE O HS LD R =S S

(8 15:12-15)

(2F 15:16-20)
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4. A7t g2l o= (2 15:21-32)

—

(1) SAl {APE A& S E= 2|12 AHL0] 2 HAPHE
]

2 YA7HA| Of| 0 70F ULt A s oj2S gt
Ofl~e2 EAfo] HAPHE & 4 U= JEHT OFLIRAULY.
TS 2 AL IE U AL A2 HAPHS
Chal 2|22 71 SYEF G| O] Al=2| Ofs FE&
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MIAE S& 2HAPLEIUC

(8 15:21-23)
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